BIEERE 1380 1(E195091%)

J&F o

ot

%A

#onH

JF AT SE R /N (&

B ICHE T2

TRIAEFEOHE RIE BERE) 2RO LBV T 20T, BT HET,

SFI54E 4 H

BVl VS

3H

OO OE R K

ES)
B | B2 55 37 BRASAE B4R AR
A 297 (34| 300  (35) 236 (35) 234 (35)| 167 (35) 170 (35)
% o= 70 90 100 105
"% 136 175 175 175 175 175
BooR 90 105 105 105
= EOTE 102 100
'OR 68 70 60 60 50 50
£ PUER(E 68 70 60 60 50 50
—~ % 60 55
ﬁ *® &H 102 105 105 (4) 105 (4) 90 (8) 90 (8)
PANESEE 70 70
FeRll R ETE(B) 34 35 35 35 35 35
SMEFETEEN(C) 35 35
RAMR5E OFEEI(D) 60 60 60 60
kT EN(E) 34 35 35 35 35 35
ﬁ B ST E(E) 5 5 6 6 17 17
B 57mme) 10 10 10
AT H(H) 30 31 31 34 45 41
ZEIFERIER (D 20 30 30 30 30 30
R ESDIEEN() 10 17 0 2 0 5
(AHBIHC)+D)HE)+D) 861 920 991 1024 1027 1030
(B)+(G) +H)+() 45 53 37 52 72 73
1 BWIITERRERELTAT DL Z L,
2 EFEOMo () [, FF (BFELET) OFMEREREEZNETIEAT D,
3 KEOMO () 1ZiF, REFEBOFEMRERENETRRAT D,
4 FEREOFEIAIER LIOER DR B 5561, iER ( ) ORRIZFAT 5,




5 HAERROEEICHTLMITIoRRNCEL THERT D2 &,



